
Monday 27th January - P4-5 - Homework   
 

 
 

 
 

Numeracy Sumdog Bug Club 

Use the grid method to answer these ques-

tions: 

1) If one cabbage costs 72p. How much will 

four cabbages cost? 

2) One apple costs 32p. How much is 6         

apples? 

3) A carrot is 17p. How much for 9 carrots? 

X 5 challenge Complete at least one Giglets 

book per week from their inde-

pendent library - if too hard, or 

easy, please let me know.  

‘oo’ sound as in toad 

 

Spelling Words 

Write a sentence using two 

of the spelling words in 

each.  E.g The man in the 

suit was glued to the 

screen, 

Zoom          brute 

Duel            through 

Cure            broom 

Foolish       prune 

Talking Homework: 

Why do you think that salads, fruit, veg etc 

are not as popular as sweets, crisps and high 

fat foods? 

Number Talk Strategy - 

Keeping a constant difference:  

1) 31—24 =                2)  33 - 11 = 

3) 61 - 15 =                 4)   43 - 21  = 

5)   82 - 54 =                   6)  59 - 11 = 


